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SetDirectory["~bastian/Desktop/bldg28feb18/sebtestfeb18fe55"];
Namelist = FileNames[]; nevents = Dimensions[Namelist][[1]];
scopedata = Import[ Namelist[[1]], "csv"];
wave = Drop[scopedata, 5]; npts = Dimensions[wave][[1]]
waveforms = ConstantArray[0, {nevents, npts, 2}];
vwaves = ConstantArray[0, {nevents, npts, 2}];
twaves = ConstantArray[0, {nevents, npts, 2}];
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Do

wave = Drop[Import[Namelist[[i]], "csv"], 5];
nbins = Dimensions[wave][[1]]; t0 = wave[[1, 1]] * 10^9; dt = 0.05;

time = t0 + Range0, nbins - 1 * dt; ampl = -wave[[All, 2]];

vwaves[[i]] = ampl; twaves[[i]] = time;
waveforms[[i]] = Transpose[{time, ampl}];

, {i, nevents};
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GraphicsColumn[
{Histogram[Table[Max[Take[WienerFilter[vwaves[[i]], 6, 0.05], {380, 440}]],

{i, nevents}], PlotRange → {{10, 20}, Full},
AxesLabel → {HoldForm[V], HoldForm[Events]},
PlotLabel → HoldForm[Fe55 Peak Amplitude], LabelStyle →

{FontFamily → "Abadi MT Condensed Extra Bold", 14, GrayLevel[0]}],
Histogram[Table[Total[Take[vwaves[[i]], {380, 440}]], {i, nevents}],
{0, 2.2, .03}, PlotTheme → "Scientific", AxesLabel →

{HoldForm[Sum of Amp in selected time bins], HoldForm[Events]}, PlotLabel →

HoldForm[Fe55 HFS response as integral of pulse over selected time bins],
LabelStyle → {14, GrayLevel[0]}]}, ImageSize → Large]
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NehFe55 = 5900  3.6

1638.89

NehMIP = 60 * 74

4440

peakMIP = NehMIP  NehFe55 * 0.05

0.135458
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NehCr = 5400  3.6

NehMIP = % * 140  39

1500.

5384.62
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SetDirectory["~bastian/Desktop/bldg28feb18/sebtestfeb18vcse/c2"];
Namelist = FileNames[]; nevents = Dimensions[Namelist][[1]]
scopedata = Import[ Namelist[[1]], "csv"];
wave = Drop[scopedata, 5]; npts = Dimensions[wave][[1]]
waveforms = ConstantArray[0, {nevents, npts, 2}];
vwaves = ConstantArray[0, {nevents, npts, 2}];
twaves = ConstantArray[0, {nevents, npts, 2}];

Do

wave = Drop[Import[Namelist[[i]], "csv"], 5];
nbins = Dimensions[wave][[1]]; t0 = wave[[1, 1]] * 10^9; dt = 0.05;

time = t0 + Range0, nbins - 1 * dt; ampl = -wave[[All, 2]];

vwaves[[i]] = ampl; twaves[[i]] = time;
waveforms[[i]] = Transpose[{time, ampl}];

, {i, nevents};
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bllaser = Table[Mean[Take[vwaves[[i]], {1, 380}]], {i, nevents}];

noiselaser = Table

RootMeanSquareTakevwaves[[i]] - bllaser[[i]], {1, 380}, {i, nevents};

GraphicsRow[{Histogram[bllaser], Histogram[noiselaser]}, ImageSize → Large]
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vwaves = Tablevwaves[[i]] - bllaser[[i]], {i, nevents};

blc = Table[Mean[Take[vwaves[[i]], {1, 380}]], {i, nevents}];
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mippeak =

Table[Max[Take[WienerFilter[vwaves[[i]], 6, 0.05], {380, 440}]], {i, nevents}];
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wavefit = TableTake

TransposeWienerFilter[vwaves[[i]], 6, 0.05]  mippeak[[i]], twaves[[i]],

{406, 412}, {i, nevents};
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fitpt = ConstantArray[0, {nevents, 3}];
Do[
data = wavefit[[i]];
nlm = NonlinearModelFit[data, a + b x^2 + c x^3, {a, b, c}, x];
fitpt[[i, 1]] = nlm[0.4];
fitpt[[i, 2]] = nlm[0.5];
fitpt[[i, 3]] = nlm[0.6];
, {i, nevents}]
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Show[ListPlot[data], Plot[nlm[x], {x, 0.2, 0.9}], Frame → True]
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cleaned = ConstantArray[0, nevents - 5];
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m = 0;

Do

IfAbsfitpt[[i, 2]] - 13.085 > 0.07, Goto[Clean];

m++;
cleaned[[m]] = fitpt[[i, 2]];
Label[Clean];

, {i, nevents};

m

2036

Histogram[cleaned]
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m = Mean[cleaned];
rm = RootMeanSquare[cleaned - m]

0.0210493
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